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Choice Based Credit System IV Semester B.A. (HRD)
Examination, September 2022
(2020 — 21 Batch Onwards)
FINANCIAL MANAGEMENT

Time : 3 Hours Max. Marks : 120

Instructions : A single answer booklet containing 40 pages will be
| issued. No Additional sheets will be issued.
TR 1 40 PN L.0m0 VST T, FODT) AeBERMOY.
TN TOINTL), ACFRMPOC,

SECTION — A (20 Marks)
- o (20 eodnsd)

Answer the following : (3%x20=60)
3INT TIrent LugoR0 : -

1. What is Financial Management ? Explain the scope of Financial Management.
TEITORD VWF TS 0TV ? BEFFIRO DBV BFSON T, RO, DFORO.

OR/eg=e
Explain the long term sources of finance for a firm.
N LG, OB TIEE TETRS TUROTIIR) D:ZORD.
2. Explain the factors affecting working capital requirement of a firm.
NTRT FROOT WORIRT), VPF ORI LoTNIsy, D[ORD.
OR/egse

i P.T.O.
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Proforma Cost Sheet of a company provides the following details :
FOTNO 3, TSR B3 IINS @doﬁaﬁ&ﬁzﬁl QeRIZTS :

Elements of cost Cost/Unit (?)
ﬁzi LERRORTOT oTnsd TS oDRRF T S ()
Raw material 120
), /A
Direct labour 80
36T 3RO
Overhead 50
Roeed 23
w 3

Total cost per unit 250
T O30T 2,83 303
Profit 50
SRt
Selling price 300
RT3 L33
The following particulars are available :
B3 FENT RN OPRT :
a) The budgeted production is 18000 units.

WHRET BT 18000 03w e 1. .

b) Raw materials are expected to remain in stores for 2 months.
RRETRITY_ a‘mgﬁj QT 93O 2 Somedd.

C) Material in process Y2 month.
TNEODATOT BT Y2 Soned.

d) Finished goods in stock for 3 months.
RTRROT JRM 600 3 Sorieh.

e) Credit allowgd-by suppliers 212 months.
ONTO VeRT AOT Lm0 2% oneh.

f) Credit allowed to customers 3. months.
METON VeRT MOT RO 3 Sored.

g) Minimum desired cash balance ¥ 50,000.
PRLITT BT Fooeat Sncd BeE T 50,000.

Prepare statement showing estimation of working capital requirement.
BP0 WO BWOTEI TRET AL TO0LITY, BOIRDRD.
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3. What is capital structure ? Explain the factors determining the capital structure.
WOTROP T3S DOTTVERD ? WOBP daéa":mab% NGFOROD BOBNTTY UTOR0.

OR/egme

The following details are available relating to a project.
TR [T ROLOTTe, VFONE B3 FINT0 !

Cost of project
BT

Life of the project
TR e T BT

Method of depreciation
BRR00BT DS
(™}

Year
Pt

g & W N =

Compute the following :
33 BINTYNIR), VGO0

1) Payback period
ﬁeméﬁf IR

2) ARR
33 Bees® T oL
3) NPV at 12%
e 12%

4) Profitability index at 12%.
BT 20T 12%.

Cash inflows

SN L.ETOFH)
130000
200000
220000
180000
120000

¥ 6,00,000
¥ 6,00,000

5 Years
b IZFned

Straight line method
R EFST TS
& 3 @

P.V.of 3 1@ 12%
12% T3 1A P.V.
0.893
0.797
0.712
0.636
0.567 *
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SECTION — B (6 Marks)
N — W (6 @osnd)

Answer any 6 questions :
CRFYTTTR & @éﬁ@ﬁ V0N :

8

What are the objectives of holding inventory ?
08 HRTNTT) BROQTIT LOTEBRTRY SPR0.

Explain capital budgeting process.
0B BRCNE BFT T 030030, LFOXC.

Write a note on wealth maximisation.
NI aﬁraﬁjﬁaﬁezﬁaf wj‘ é:e,—’igé 2LB0000.

What are the stages of operating cycle ?

) 0 00O

(6x6=36)

FODFLBE BoSNE IR ?

5. Write a note on preference shares.
E:?Cﬁaé’:m Hedons wrﬁ\ 2303 2080200.

6. Calculate financial leverage, operating leverage and combined leverage from

the following :

;-’%aaggja@, ST eL3ont TONR 50"%5‘; @5&2:3’% BOWIELEOD :

Sales
DT

Fixed cost
Swplaer] ja'?;

Interest
WE

Variable cost
953 3323
23 23

, 4

24,00,000

4,00,000

1,00,000

10,00,000
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7. From the foHowing Calculate E
33 3N QRN EOQ 70

-5-
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0Q as per tabular method.

R&BOND -
Order size (in units)

12000 10000 5000 2500 2000
00 Twes ( QDR i) )
Annual consumption 12000 units
DINET 20838
Ordering cost < 50/order
Eiofa) mgd
Carrying cost ¥ 2 per unit
52,00m wai
8. From the following Calculate WACC.
39503 omogs WoBY T3S0 WACC crbdi TORGBAE,
Sources Amount (3) After tax .
Cost of capital
R éaadsﬁ; ONoZTR
WoEy 53?%,
Equity Shares 1,20,000 18%
Q8,83 Fedhredy s
Preference Shares | 40,000 15%
YIS e
Retained €arnings 20,000 14%
YORAT ooy
Debentureg 1,20,000
MWOTZ,

12%
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SECTION — C (3 Marks)
dgon— 2 (3 ©03INYD)

Answer any 4 questions. ' (4x3=12)
oL 4 TIN SUZOR.

1. What are the cost of extending credit ?
Spae QROmN AOWOTRE, ﬁz‘iﬁ% oI ?

2. Explain the motives behind holding cash.
SN, BROQT mcg)esﬁ@’mq DWORD.

3. What are the advantages of bank credit ?
LI, 08T WVT SRBRUSNIR) I9X0.

4. Write any 3 sources of short term finance of a firm.
emz:’gsaﬂoci 3R B0 DEFTORD WARTO dwaoﬁ#;igﬁ 2030200.

5. Write a note on retained earnings.
o, waFon Wiy a%§ £3¢3 B0,

6. A company issues % 25,00,000, 18% debentures at par. The tax rate is 40%.
Compute after tax cost of debt.
Fo3030 T 25,00,000 Be3T 18% wﬁé@dcﬁd m&a’g@w@ Snoow Inad. o1 ©d
40%. 307 &=030T WOTZT ﬁzs:;gbgL BoTO&EOA0.

SECTION — D (1 Mark)
i 8 (1 908 SR3)

Answer all the questions. =~ (12x1=12)
IR, @éﬁ@ﬁ YUZORD. <
1. What is re-order level ?

Oe SEFO° ST QOTTEO ?

2. Give the formula to calculate EOQ.
EOQ 30@>%8030% mgml Q2.
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3. What is time valye of money ?
BEATI B0 a'b’ae?:j DOTTE 9

4. What is venture capital ?
030 oY DOTTE 9

5. What are mutually exclusive projects ?
m%ma'@e DT TR f_@eze?s; QOTTER 9
6. Expand ARR.
ARR 3 o] dmdﬁdi B0,

7. What is dividend ?
LRYOT 0TBe> 9

8. What is lead time ?
e FZ0D oPex ?

9. What is Permanent working capital ?
TIB B T00S wormy Q0TITE0 9

10. What is annuity ?
@drajés QOB 9

11. What are Secured debentures ?
ﬂa%o‘a AWOTS, oTBe) 9

12. What is profit maximisation ?
PRt IR FeTT omdeds ?



